Section 1.5 Quiz

Write your name on the back

1) Complete the square of the following equation and factor. That is, complete the square and

2
then write the equation in the form (x + g) =,
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2) Solve the following equation:
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Do not solve the equation.
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g ?, Section 1.7/1.8 Quiz Write your name on the back
¥ ey
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g 1) Determine the values for which the following inequality is satisfied. Write your answer in

interval notation
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2) Determine the values for which the following inequality is satisfied. Write yJJr answer in ( / @
interval notation /

7 X6 =2 af“‘\ K+ 6 <~/2

x+6l>12 "~ - ¢
T L?é or X{ /\(?7

=S o i i

X C agg Y- 6
(=2 3Y U ¢ o le)= )2
(,\; /(\’“34@ P




Section 1.7/1.8 Quiz Write your name on the back

3) Graph the region describe below.

(2 < x<6)

4) Find the X and Y inte rcepts of the following equation:
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Section 2.1 Quiz ‘ Write your name on the back

1) Find the domain and range of the following function. Express your answer in Interval Notation

fx)=v4+x
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2) Write down and simplify f(a + h)
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Section 2.2/2.3 Quiz
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Write your name on the back

Consider the graph shown to the left to answer the following questions

1) Write the range using interval notation
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2) Write the domain using interval notation
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3) f(1)= — (.

4) Using the vertical line test from section 2.2, is the graph depicting a
function? Explain
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Section 2.5 Quiz Write your name on the back

1) Write the equation for the following 2) Graph the following transformation of x?
transformation B . . flx) = Zx -3 Shlt
[ /[{ (OnS Formttyon . ‘?genh uerﬁc?,{f/ N d;ﬁ ' h
~ ™ oy . L A | éd/:‘
of TC=/x| actor ol
Q\\V |
' N 7 JQ 3, i
X ‘ v j /'n ‘}ffc“ fff)’
. - Jotertepls &
_ XA Wwwf B g
fo= m IO s e g
Clips [XI ¢/ SkiPk /%) PRI 2K 3
Q’l)f’fl()fgf}wf“ /\"jl\f\x ’5”/‘/'}'3 Lf:i/ /\( ?:?“ ;Z

2o 1 T
zua 1S . jjf;}




Section 2.6 Quiz Write your name on the back

Let f(x) =% andg(x) =x—2

1) Find f(g(x)) gf(@}{ﬂ )= :‘ ,}Q»‘Zi
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3) Calculate g(f(4)) and simplify your answer
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Section 2.7 Quiz — !Vﬁi«@ Write your name on the back

1) Is the function f(x) = |x| a one-to-one function? If so, explain how you know. If not,

provide a counterexample, |Ilustrat|ng why it |s not one-to-one
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Section 3.2 Quiz Write your name on the back

Sketch the graph of the polynomial function. Make sure your graph shows all intercepts
and exhibits the proper end behavior.
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Section 3.3 Quiz Write your name on the back
Find the quotient and remainder of the following expression. Write your answer in the

form P(x) = D(x) - Q(x) + R(x).
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Section 3.7 Quiz Write your name on the back

For each of the following two functions, find the X-intercept, Y-intercept, horizontal
asymptotes and vertical asymptotes. Show your work. ﬁ
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Section 4.1-4.3 Quiz Write your name on tne pack

1) From 4.1&4.2:Suppose y = a* for some base a and that the function passes through
the point (3,27). Find the value of a.
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2) From 4.3: Express the following equation in expéhentia!]wform: log; 81 =4
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3) Evaluate logqigo 1l = :
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4) Use the definition of a logarithm to find x: log, 2=x
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Section 4.4 & 4.5 Quiz Write your name on the back

1) Use the Laws of Logarithms to combine the expression. Slmphfy your answer.
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2) Use the Laws of Loganthms to expand the expression and ellmmate any exponents.
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3) Solve the following equation for x. You should get a whol}e number as an answer.
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Unit Circle Quiz Write your name on back

Consider the following unit circle and fill in the 12 missing pieces at the bottom of the page. Some
questions ask for t values, some ask for (x,y} values and some require both.
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Section 5.2 Quiz Write your name on the back

1) Find the exact values of cos(—) and tan(—)
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2) Determine the sign of (sint - cost) given that t is in Quadrant li
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3) Write tant in terms of sint given that ¢ is in Quadrant IV. Hint: cost = +V1 —sin? ¢
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Section 5.3 Quiz Name

2) Determine the period, amplitude and phase shift of the following graph. You do not
need to write the equation of the graph.

Period- & T
( 3:'5+ucc lﬂeM‘?" e a...;f
ef-c‘ of one pecio 3)

Amplitude- C/
(HDW /-hﬂ’n e j('qp/v 13
Alsafbelir b mil po,;\U

=y

Phase Shift- —T]
(Ugué\”j Cos Starts$ qi-The
Yoxis. thoe, it steB T b e l5t of Tl g-ag:s)




Section 5.3 Quiz Name

1) Determine the Equation of the following graph. Include the period, amplitude and
phase shift.
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Section 5.4 Quiz Write your name on the back

1) Graph the following equation. Include the period and phase shift
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Section 5.5 Quiz Write your name on the back
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Section 6.1 Quiz Write your name on the back

T :
1) Convert P rad to a measurement in degrees.
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2) Convert 3° to a measurement in radians.
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3) Find the length of an arc that subtends a central angle of 3°in a circle of radius 10.
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Section 6.2-6.3 Quiz Write your name on the back

1) Find sinf and sin«a as they pertain to the triangle shown
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Section 1.1 Quiz Write your name on the back

1) Graph the following interval(s) on the given number line: K
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2) Represent the following interval in set-builder notation: (0, 12]

( x | 0 < x <12}



